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PROVA DE PORTUGUESE INGLESDO VESTIBULAR 97/98
DO INSTITUTO MILITAR DE ENGENHARIA (28/11/97)

Cligueaguipara download da prova em MS Word 6.0 (formato zip)

1° Questio: /,_\_/ /),4(( Valor : 6,0

Y

REDACAO

ESCOLHA UM DOS TEMAS ABAIXC E COMPONHA UM TEXTO
DISSERTATIVO, NO ESPACO DE 35 LINHAS.

-~ Nos paises subdesenvolvidos, tendo-se em vista a satisfacdo das necessidades
biisicas do homem | deve-se quesiionar se é prioritario o desenvolvimento
tecnoldgico ou a mudanga das estruturas ccondmicas e politicas. ”

- * Ndo me envergonho de mudar de idéia pergue no me envergonho de pensar.”
{ Pascal )
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ZI Ql“ﬂ“. -LMM vilnr: 4‘0

CORRECAOD GRAMATICAL
1) Assinale a altsrnativa que completa corretamente o periodo:

noite estava clara ¢ os namorados foram praia ver a
chegada dos pescadorss que voltavam terra,

2) Em uma das alternativas , todas as palavras devemn scr aceniuadas. Assinale-a.

a» climax, trofeu, constroem, patio.
b) catastrofe, bussoia, peru, swno.
¢} juiz, avaro, rebrica, dificil

d&) metodo, porem, magpa, tambem,

3} Marque a tinica alternativa que possa ter o espage em branco completado com
¢ pronome oblicwo LHE { objeto indireto):

a} O professor parecia prevenir- que a prova seria dificil.

b) Procurei - por toda a parte ¢ ndo ____ encontrel.

¢} Quem convidou para sair comigo?

d) Acho que ela gstima como nilo estima a mais ninguaim

4) Reescreva, passando para o futuro do presente, toda a oragdo:

* .. & somem-se logo nas trevas do esquecimento.”
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2 Questio {Continuagio)

5% Escreva as formas dos verbos indicados que preencham corretamente as lacunas:

a) Cmando en o6 livros, hunca mais o8 emprestarei . (reaver),
b) Os alienados sempre neutros. (manter-se.

¢} As provas que mais erros seriam comentadas. (CONter).

d) Quando ele uma cangiio de paz, poderd descansar. {compor).

6) Assinale ¢ caso em que ¢ verbo estiver empregado Cotretamente,

a) Foram eles que odo susteram o peso, faltou-lhes equilibrio.
b) Cuiando o ver, avise-mg, por obséguio,

¢) Se vocd nip prover, quem provera?

d) Quande advir o que previ, dar-me-245 razdo

7} Aponte a alternativa correta:

3) E preciso coragem.

b) Antdnio ou Jodo serd 0 presidente.
¢) E iss0 eram trevas da noite.

d) Hoje sdo (rinta de julho.

e) Todas estdo correlas.

&) Complete os espagos ecm branco com & opgdo correta,

Amda furiosa, mas com violéncia, proferia injurias
para escandalizat os mais arrojados.

a) meia - menas - bastanies
b) meia - menos - basianie
C) meio - menos - hastante
d) meio - menos - bastantes
£) meio - menas - bastantes
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2! Questdo: qt M {continuagio)

9y Assinale a frase correta:

a) Nem todas visavar aquele diploma.

b) Nio lhe julgava capaz de tal coisa.

¢} Beberds de nosso leite, comeras de nosso pic e partiras quatide te aprouver,
d) Quando lhe ver, peca-lhe dinheiro,

) Nio nos foi possivel assistir o desfile malitar.

10 Marque com um X a opgdo cuja vegéncia verbal esta incorreta:

a) Ne sécule XVI, muites negros preferiram mais a morie do que a escravidio,
b) informem-no de que nio venha

¢} A garotada prefere A gindstica o jogo livre,

d} Informem-lhe de que nio venha.

e} O jogador visou o dAngulo esquerde da meta,

117 No final de uma carta vocé escreveria © “Aceite o abrago do amigo gue ¢
estima” ou “ Aceite o abrago do amigo que lhe estima”™?

Justifique: — . P S S

12) Indique a alternativa que completa corretamente a frase abaixo:

“Foram as quantias para a realizacio da festa, a que
compareceram personalidades da cidade.”

a) viltosas - dispendidas - iminentes.
b) vultosas - despendidas - eminentes.
c) vultuosas - dispendidas - enunentes.
d) vultuosas - despendidas - iminentes.
€) vultuosas - dispendidas - iminentes
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2* Questiio (continuagdio)

13) Que frase apresenta um vocibulo escrito incorretamente?

8) Serdo punidos os ditapidadores dos cofres piblicos.
b) Nossos pés afundavam-se na terta umedecida.

¢} Os alimentos mal cozidos provocavam desinteria.
d) O cabeleireiro ¢ra um rapaz myite esquisito.

e} As mulheres eram estranhag & supersticiosas.

14) O plural de TEM, DE ,e VE &, respectivaments;
a) tém - déem - vém,
b) tem - dedm - véem.
o) tém - ddem - véem
d) téem = deém - vém
) téem - déem - véem

15) Complete as frases usando, das palavras seguintes, a que convier : sessio -
ocssdo - segdo - secglio

a) A de terras compete a0 Estado .
b} Assisliremas das eito.

16) Aponte a frase em que 2 virgula foi mal emprepada antes do “gue™ :

4) “Depois dos pais, gue recebem o nosso primeicd grite, o solo patrio recebe
0% Nosses primeiros passos” .. {J. M. Macedo)

b) * Sucede que o outro peixe, inocente da traigdo, vai passando desacautelado
¢ o salteador , gue st de emboscada dentro de ssu prdprio engano. lanca-
Lhe os bracos de repents ¢ Fi-lo prisioneiro.” (Vieira )

¢} “Que admirdvel, gue espléndido pdr-de-s0l.”

d) “Parecia-nos, que © céu ostava repleto de chamas, .®
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2" Questio

{comtinuaciic)

E— —
17y A pesicdo do pronome oblichno estd incorreta em :
a) Para ndo aborrecé-lo, tive de sair;
b} Quandoe sentiv-s¢ em dificuldade, pediu ajuda.
c} No me submeterei ans seus caprichos.
d) Ele me olhou algum tempo comovido.

e) N0 a vi quando entrou.

18) Na oragio: “Sem duvida, 2sta menina toca piano muito bem™ | a palavra piano

£ 4 palavra mcning sdo respectivaments:

a) sujeito € agente da passiva.

b) agente da passiva ¢ snjeito.

¢) adjunto acdverbial de instrumento & sujeito.
d} objeto direio e sujeito.

¢) adjunte adverbial de modo e sujeito.

19) Assinale as afirmativas corretas;

a) O objeto direto ¢ um complements verbal.

b} O complementc de um nome ( substantivo, adjelivo, advérbio) é o

complemento nominal,

£} Sujeiln composia € o que iem dois nicleos,

dy Cuando o verbo for HAVER ou FAZER. temos uma oracio sem sujeito,

pois estes verbos sio impessoais.

e} O verbe SER & impessoal nas indicagbes de horas, datas & distincias.
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3 Questdo (Continuagio)

20) Complete as lacunas

Iy Correm aos processos varios documentos
IT) Paisagens a5 mais belas
1 E entrada 3s pessoas estranhas.

a} anexo - possivels - proibida.
b) anexos - possivels - proibido,
¢) angxos - possivel - proibida.
d) anexos - possivel - proibido
g) anexo - possivel - proibida

7of 11 06-09-2005 17:06



PROVA DE PORTUGUESE INGLES DO VESTIBULAR 97/98 ... http://www.ime.eb.br/~sd3/vestibul ar/provas9798/portingcfg98.html

* Questiio: Valor: 4,0

TRANSLATION
- Translate into portuguese the text below:

Technologies change the world when they expand the range of the human senses.
We've already seen - through the #yes of the Hubble Space Telescope - eatly galaxies.
The Cosmic Background Explorer , a satellite that looked at microwave radiation lefl
over from the big bang, revealed how unformed matter coalesced into the seeds of
gigantic galactic chusters. But there’s still a fot more to see. Over the Coming two
decades, our vision will stretch farther than ever, across millions of miles and billions
of years, transcending tlime and space.

Around the turn of the millennium , the American, Japanese, European and
Russian space programs will put more than a dozen ncw telescopes into orbit. Looking
at greater distances means looking farther back in time, imto the era when stars and
galaxics formed, and maybe finding planels and extraterrestrial life, 10, The
technology comes from the world’s spies, who like taking long-distance smapshats.
Thanks 1o them, the sateilite industry has learned to build large structures that deploy
in orbi1, unfolding like wmbrellas. Optics researchers have learned to make lighter
mirrors, with thin surfaces and strong exoskeletons. “The Hubble Space Telescope,
which is an outstanding scientific instrument, was very difficult 1o build a decade ago,”
says Harley Thronson, program scientist for Origins, NASA's space-telescope
initiative. “The next genemation of missions will far surpass il.” In 2007 the Next
Generation Space Telescope, for example, is supposed to rocket oui past the moon,
unfurl an sight-meter mirror and peer into what astronomers call the Dark Ages, the
first billion years of the universe, when diffuse pas became galaxies and stars.

Many of the most interesting astrophysical phenomena - dust clouds where stars
form, the centets of galaxies, even icy moons and asteroids, for example - show up best
in the infrared part of the spectrum.

8of 11 06-09-2005 17:06



PROVA DE PORTUGUESE INGLES DO VESTIBULAR 97/98 ... http://www.ime.eb.br/~sd3/vestibul ar/provas9798/portingcfg98.html

1" Questho: Valor : 4,0

TRANSLATION

- Translate into portuguese the text beiow:

Meat, poultry and fish were not originally patt of man’s diet. Our teeth evolved 1o
deal with tubers and seeds, not flesh. Our digestive systems are those of foragers, not
humers. We cannot gorge ourselves on meat and then go without eating for days as
many carnivores do.

Such evolutionary arguments may seem a thin basis for adepling a vegetanan diet
today, however. The fact is that meat is 2 highly concentrated form of putniment. It is
aiso among the most appetizing foods in the average diet. Its flavours and smells are 50
thoroughty woven into the traditional Western way of eating that many people find the
ptospect of doing without it disheartening. Yet the evidence is that vegetarianism as a
matter of individual choice is now spreading. For a vanety of reasons, a habi that was
once regarded as an eccentricity is paining respect.

A vegetarian dist may be adopted for any one of three reasons - the philosophy of
the individua), the range of foods that are available locally. or the religious beliefs of a
particular community.

But with the spread of affluence, the amoun! of animal protein eaten in the average
dist has been increasing. Yegetarianism in the West is therefore less 8 mamer of
economic necessity than of choice, The number of voluntary vegetarians in Europe and
the US is estimated at several mitlion. Some are mativated by aesthetic or moral 1deas,
they deplere the killing of animals and some of the methods of raising them for food.
Some base their choice on coenomics; it is more efficient to use land for growing food
directly than for feeding animals. Still cthers simply believe a vegetarian diet is more
healthy.
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3* Questio: — M Valor: 2,0

1

READING COMPREHENSION
- Read the text and answer the ¢questions below:

In 1976 one survey revealed that there were less than 3,000 bald eagles in the
lower 48 states, the mainiand, of the U5 A By 1984 another survey, an incotnpicte
tnidwinter one, put the number at almost 12,000 bald eagles in those samk states.

The eagle, America’s national symbol, had been shot and poisoned and
deprived of its living space. Another reason for its decline lay in its nesting habits.
Baild eagles do not breed until they are 3 16 5 years old, and then they normally
produce only twe eggs per year. The eagle often returns each year to the same nest so
preservation of nesting areas is vitally imporiant.

Congress ook action to protect the eagie in 1972; criminal penalties for killing
a bald eagle may be as much as a 320,000 fine and/or one vear in prison. Healthy eagle
eggs have also been transplanied from nnpelinied areas te other ones where egp shells
are very thin, and young birds with a high survival rate have been brought in from
Canada.

1. Which of these sentences is the best restatement of the first sentence?

(A) All the states apart from Alaska and Hawaii had less than 3,000 bald
cagles in 1976,

(B) According to ene survey, which came out in 1976, fewer than 3,000
bald eagles were surviving in mainland U5 A

(C) In 1976 the lower 48 states of the U.S.A. had lcss than 3,000 bald
eaples, according to a mainland survey. _

(D) Fewer than 3,000 bald cagles were living in mainland 1.8 A, in the
vears up to 1976, one survey revealed.

2. According to the anthor

(A) the 1984 survey of bald cagles was not as complete as the earlier one.

{B) the lower 48 states of the U.S A gpublished another survey of bald
eagles in 1981,

(C) Another mid-winter survey of bald eagles was published in 1984,
(D) the results of the Iwo surveys of bald eagles were contradictory

10of 11 06-09-2005 17:06



PROVA DE PORTUGUES E INGLES DO VESTIBULAR 97/98 ...

11of 11

http://www.ime.eb.br/~sd3/vestibul ar/provas9798/portingcfg98.html

3t Questho: A/?Dk}A/ /

{continusgiio)

1) The author does NOT state that many eagles died because

(A) they were shot.

(B) they were poisoned.

(C) they had insufficient living spacc.
(D) preservation efforts were inadequate.

4) One reason for the bald cagle’s low numbers is

(A) its early breeding period.
(B) the small number of eggs it produces every year.
(C) that it only nests in preservation arcas,

(D) the fact that it returns to similar nesting areas every year.

53 If you kil! a bald eagle your maximom penalty s

(A) to be sent to prrison or to receive a large fine.

(B) to be sent to prison and to receive 2 large fine.

(C) to receive a large fine whilst serving a prison sentence.
(D) 10 be taken to Congress to receive a criminal penaliy.
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